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Section A (30 x 2 marks)

For each queéﬁon from 1 to 30, four options are given. One of them is the
cofrect answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,
3 or 4) on the Optical Answer Sheet.

1. John fed 100 grams of maize and 100 grams of meat to 4 different
" animals. After one hour, he measured the amount of food left and
recorded the results of his investigation in the table below.

Animals Maize left (g) Meat left (g)
] A 100 0
: - B 80 50
C 100 50
D 0 100

Which animai(s) in John's investigation is fikely to be an omnivore?

(1) Aonly
(2) Bonly
(3) B8 andC only
(4) AandDonly

Lofite w

Pong y ong
Coconut
Durian

Which of the following characteristics can be used to classify the
plants above info two groups?

Flowering and nan-flowering

Edible and non-edible

Grow in water and grow on land
Dispersed by water and dispersed by wind

on®>

(4. AandBonly g
&) Aand C only

B and C only
% C and D only



Three similar pots of pIanis, P. Q and R, of the same mass are used in
the experiment shown below. They are placed in an airy and sunny
place. Each pot is given 300m! of water. '

Plar_lt Q P!ant‘_R

Which of the following set-ups is most likély to be correct after a day?

Setug' A B Setup 8

Setup C Setup D

() .Setup A
(2) SetupB
(3 SetupC
{4y SetupD



4.

The diagrams show the lite cvcle of 2 insects.

' Adult
~ T9days \
- ' insect A
Pupa - Eag
. |
3 months 7 day
/ Larva ays
Aduit
2-3 weeks \v
Pupa Insect B Eag

3 weeks Larva %&lys

The diagrams ¢annot be used to- compare

(1) the lifespan of the 2 insects

2) bhow the insects reproduce

% the length of time it takes the eggs to hafch
4 the number of stages in the life cycle



A pupil germinated some seeds and recorded his-observations in a--

table as shown belows

OBSERVATION

DAY
Seed becomes swollen 2
Seed coat breaks 5
Root appears 7 _
| _Shoot.stads to appear 10
17 -

Shrivelled seed leavegidfop off

On which day will the éeedling most probably be able to

photosynthesize?

(1) 5
2y 7
(3) 10
(4) 15

Study the classification below.

[ Organisms

One-cslled Organisms

Paramecium
Amoeba
Mould
Yeast

Many-celled Organisms

Mimosa
Grass
Ant

Bacterium

Which of the following organisms have been classified incorrectly?

(1) Yeast and Mimosa
(2) Amoeba and Grass
(3) Mould and Bacterium
(4) Paramecium and Ant




The table below shows four plants and their reproductive_plant pags.
Which plant is not matched comrectly with its reproductive pantse * -

Plants Plant parts

_A Banana - Sucker

B Hibiscus L eaf

C Bird’s nest fern Spore -

D " Water chestnut "~ Underground Stem
1 A
(2) B
3) C
4 D

The table below shows how two animals are classified.

WithiHain

With wings Without wings

e Léy eggs Do not lay €ggs Lay eggs

R S

Which of the following are differences between animals, Rand S,
according to the way they are classified in the table above?”

A R is amammal but S is not. -
..B . R gives birth but S does not..
£. R has wings but S does not.
BL S cannot fly while R can.

(1) Aonly
(2) B only

(3) AandD only
(4) B andC only

Do not lay Eggs 7




The food web shows the food relationship between animals in=a forest.

squirtel

millipede
\ plant ., bulbat
\ / \ .
caterpilfar /
centipede > tc_>ad, A

How many organisms are predators as well as prey?

(1) 2
(2) 3
(3 4
(4) 5



T0:  The diagram below shows the human respicatory system.

*

AU

I

r

)
i

diaphragm

rib cage

Which of the following shows the coaeetmeverments of the diaphragm -

and ribs during infialation and exhalation?

Ribs

Diaphragm
lnhalation Exhalation Inhalation Exhalation
down and up and
4 | relaxes contracts inwards" outwards
up and down and
(2) | relaxes contracts outwards inwards
. down and up and
(3) | contracts relaxes inwards outwards
up and down and
(&)} | contracts relaxes outwards inwards




11.  Our blood can be ¢lassified into four groups — A, B, AB and O.'

The table below shows how the blood types of blood donors and
recipients are matched.

Blood Type Blood type of person donating blood
e | A | & [ a | o

A Yes No No Yes

B No Yes Nu - _Yes

AB Yes Yes Yes - Yes

0] No No No Yes

Michael’s family members have the following blood types:

Father - B

Mother - A

Brother - AB

Sister - 0O
- B

Michael

If Michael needs a blood transfusion, who can he receive blood from?

(1) His father only

(2). His mothér and brother only

(3) His father and his sister only

(4) His father, brother and sister only



12.

13.

Andrew set up an experiment to fi nd out which condmons were most

suitable for plants to live. The set- up consisted of five belHars
containing a plant each. Each plant was given a different set of

conditions. All the plants were identical and healthy at the start of the
experiment

I ne table below shows the conditions given to the five plants.

[ Bellqar

Water

Oxygen

Sunlight - =

Fertilizer

Carbon dioxide

ANIRNP AR NP P

NEIRNENESL-
x| x| <|«]<]a

NSPSTS XD

XAl s A m

| v - presém
B( - not presént

Which 2 bell-jars of planté would be suitabie to show that water is

needed for the plant to make food?

(1),
) .
Q) -

(4)

The. pie chart below shows the proportion of five populations of

Aand C
8 and E

‘Cand D

Dand E

organisms in a garden community. These five populations form a food
chain.

Which of the food chains below illustrates the relationéhip between
these five organisms?

(1)
(2)
(3)
4

Q2R>SITDP
R2>S>Q>P>T
P>T>Q>R>S
T>P>Q>S->R



W

14. Two plants crossed pollinated.and. produced a plant with the.flowecr..
shown below.

*

Purple and White Flower

Which of the following pair(s) of flowers is/are likely to be from the
parent plants?

B Colour of Parent Flowers
Male Female
R " Puple White
N White White
2’| Purple and white Purple
B Purple ‘- Purple
(1) Aonly
~(2) Donly

(3) AandConly -
(4) BandDonly" )

10



15. A classification chart is shown below.

Organism

A B
X
_ l Mango Balsam Moss Mould Fem
'l o
What could A & B be?
A B

'Non-Flowering Plants

Flowering Plants

" Able to Photosynthesize

Unable to Photosynthesize

Reproduce from Seeds

Reproduce frorit Spores

CEE:

| Insect Pollinated

Wind Pollinated

11




16. Some Science Club members observed a goldfish in a tank.
They kept a record’of the number of times the gilt covers open and -
close. The graph below shows the results of their observauon.

40
35 4

y 30-
25 -
204
15 -
10
5
0

0 2 4 6 8

X: Number of days *
Y: Number of times gill covers open and close in 30 seconds

- What could the Science Club members h_ave done at the end of the
sixth day to cause the results shown in the graph above?

(1) They put in another fish.

(2) They provided the fish with food.

(3) They added aquatic plants.

{4) They moved the tank to another location. |

12



17.

George conducted an experiment fo investigate the amount of light that

can pass through three materials of the same thickness. The materials
he used.were frosted glass, clear plastic sheet ar~ styrofoam board. He
shone a torch througn the v vnatenals. He used a ngnt sensor to
measure how much light has passed through each of them.

He drew a graph to show the amount of light recorded by the light
sensor. Which of the following graphs is the comrect one?

Ay
(‘1\1 R .

Amount
of light
‘recorded

‘Amount
of light
recorded

_ /Amount
of light
recorded

Amount
of kight
recorded

A

T T T T "~ 77" Clear Mastic sheet
Frosted glass

Styrofoam board

Time
A
Styrofoam board
e Frosted glass
e Clear plastic sheet
Time o
4 Frosted glass
-/‘
s o
S _ Clear plastic sheet
s -7
- .
R Styrofoam board
%
s
Time
4 -~ Clear plastic sheet
./‘
K4
e
7
_/./' P Frosted glass
P 7/ s " :
Vs N
e Styrofoam board

»

Time
13



18.  Five objects of the same size but differentmasses, are put into a tank
of water. The diagram shows what happens when they are in the water.
Study the diagram and answer the question below.

12g

23g

369

Which one of the following is the mass of object D?

(M .259
2 329
(3. 42g
< 60g

19. Keric wants to find out whether stiming makes salt dissolve faster in
water. Besides using the same amount of salt, which of the following
variables should he keep the same?

A Typeof salt

. Amount of water

€  Temperature of the water _

PY. Number of times the water was stirred

(1) AandBonly
(2) CandDonly
(3) A, BandConly
(4y B,CandDonly

14



20. Four identical beakers, A, B, C and D, were filled with tﬁe-éqmevclﬂﬂlw
They were left in four pfaces with different conditions for 10 nours_as shown in
the table below.

Containers A B c D 1
. Sinny Sunnyv Cloudy Cloudy
Conditions Windy Not windy Not windy “Windy
Wthh one of the following graphs correctly shows the volume of the water left in
A, B, C and D after 10 hours?
A

Volume Volume

of water of water

Volume Volume

of water of water

15




21.

John carried out an expen‘meni to determine the effects of objects of different

masses on a spring. A line graph was plotted as shown below after the *
experiment.

w0
Length 40 -
of 35 J
spring
(cm)

N
(44}
i
T

N

-

o
[

0 200 400 600
Mass of object (g)

What can John conciude from the line graph above?

. A. The length of the spring increases proporttionately.

B: Doubling the mass will double the length of the spring.

« - When a 600g object is hung on the spring, the length of the spring is
30cm.

D The extension of the spring is 15cm when a 300g object is hung on it.

‘W Aonly

& AandD only
S) A, BandDonly
4 All of the above

na



22.  The-diagram betow shows a water container filled with 3000 cm® of water. The
capacity of the container is 000 cm®

When the tap of the container is turned on and off, 500 cm?® of water is
released into the beaker.

“What is the final volume of the air in the container?

(1) 4500 cm®
(2) 5000 cm®
(3) 5500w’
(4) 7500 cm?®

17



23. Aileen had three rods, P, Q and R, of W She placed utem in
varinys posiions. A, B and C, as shoWari circuit below.

L1

The results of the experiment were shown in the table below.

She repeated the experiment by placing the rods at different positions as

shown in the table below.

Position A - B C
Rod P Q R
Lamp L1 L2 37
Bulb lights up? No Yes Yes

Position where rods were placed

B8

C

Q

P

R

Which one of the foliowing would show the correct result?

Lamp
L1 12 L3
(1) Yes Yes No
(2) . Yes No Yes
(3) Yes Yes Yes
4) No Yes Yes

18




24.

Janet was told to investigate if the arrangemnent of the bulbs in a circuit
affects their brightness. She set up four circuits as shown in the diagrams

below.

i

Q-

...__

Q-

—

&

C

i@

S

Which of the two circuits shown above should be used to ensure a fair test?

(1) AandC
(2) _AandD
(3 BandC-
(4) BandD

19



25: Janet carried out an investigation with 4 beakers of water. Fhe volume of
water in each beaker was recorded at the start and end. of the investigation.
The resuits are shown in the tabie below.

Amount of wafer at the Amount of water at the
- Beaker start of the investigation end of the investligation
(m) (ml)y '
A 70 24
B 60 ' .. 130
C - 50 ) 40
D - 40 - _ 25 _ |

What can you infer from the results shown in the table?

Beaker C has the biggest exposed surface area.
\&L Evaporation was the slowest in Beaker A
\(\?(L More water evaporated from Beaker B than Beaker D.
(4)"  The least amount of water evaporated from Beaker D.

26. The diagram below shows the position of the shadow cast by a stick at 4
different times during a day.

N

li\.

DN AR A TR B

A

Which diagram shows a shadow cast at 6.0Gpm?

H A
(2) B
@ C
4y D

20



27. Ming Li set up an experiment fo find.out the:elat(onshlpbetween the hexgh’(
of a ramp and the distance travelled by a toy car. .

} books

Which one of the following graphs shows the correct r'esuli of the

experiment?
(1) : (2)
A , A -
No. of No. of
books \\ books
Distance - Distance
€)) - (4)
A &
No. of No. of
books_ books-
Distance - Distance

21



28. The flow chart below shows{he propeﬂieé of4 dffféfént haterials A .B,C

and D.
Start
1 Yes [ ¢
’ _ Yes ‘ —
Does it break when dropped? |——| Is it transparent? .
l No ' No ™| D
— No A
Is it flexible? —1 B
l Yes
A

Which materials A, B, C or D are suitable for making the objects shown in
the table below? ’

A B C D
{9J Nylon socks | Wine glass Clay figurine Plastic spoon
Plastic spoon | Clay figurine Nylon socks ‘Wine Glass
g\ Nylon socks | Plastic spoon Wine Glass Clay figurine
Y4 [ Clay figurine | Wine glass ._.._.| Plastic spoon ...} Nylon socks

22



29.  The diagram below shows 3 objects X, Y and Z in the Solar System. The
fines indicate the paths moved by Objects Y and Z.

The following are descriptions of Objects X, Y and Z.
o Xisastar.
= Y supports life.
* Zis a natural sateliite of Y.

Which one of the following statements is incorrect?
(4') The rotation of Y causes day and night.
X ensures that the water cycle on Y continues. "

ﬁf ‘We can see Z because it reflects hght from-X_
(47 When Z revolves round Y, it causes the four seasons.

23



30. The diagram shows three gears, X, Y and Z.

The number of teeth in each of the gears is shown in the table below.

Gear Number of teeth
X 16
Y 12
Z 24

Which ane of the following shows the correct number of turns for gears

X, Y and Z?
Gear X GearY Gear Z
) 32 24 I 16.
2y 24 32 16
(3) 16 12 24
(4) 12 16 24 -

24
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Section B: 40 marks
Read the questions carefullyand’wnte down your -answers in the spaces
_provided.

©
L\ .

'31.' “The table gives us some information on 5 animals.

-1-  Animals | Life cycle “Habitat Diet Legs
| Housefly . 4 stages | Rubbish dump | Omnivore | 6legs
Grasshopper | 3 stages Field Herbivore |- 6legs
Rhinoceros beefle | 4 stages Tree Herbivore | 6 legs
Cockroach ™ - 3 stages House Omnivore 6 legs-
Butterfly | 4 stages Garden ' Herbi\io'ré'_.._'- 6 legs

Janet selected one characteristic and classrf ed the animals into 2 groups
shown in the table below..

Janet's table: ) ey
| Group A . " .. | Group B
Housefly - - Grasshopper
Rhinoceros beetle Cockroach |
Butterlly - : :

Jill selected another characteristic for her classification as shown in the.table

below.

Jili's table: : 8
Group A I Group B l
Housefly .- ' |- Grasshopper j
Cockroach | Rhinoceros beetle i

Butterfly i

- (ay Based on the information given, what charactensttcs dld Janet and Jili use
- to dass:fy the anlmals’? [11

Janet:

dill: :

(b) Why are the other 2 characteristics given in the table not suitable for use
io classify the animals? 2]

0]
(i)

25



32.

33.

The diagram shows the pcecess of polllnatton that occurs in the life cycle of a
flowering plant.

Flower A Flower B

(a) Describe the process that is shown above. i1

iee—

(b State orfe observable thange n the flower folfowing-this process: - [1]

A substance has to pass through various parts of a{plant cetl[before reachmg
the nucleus.

" (a; Use the words given below to write_the correct order in which the -

substance has to pass through. -~ (1]
" Celf'thembrane Cytoplasm Cell wall
(b) What is the ﬁ;nction of the cytoplésm? i1

.

26



34. The picture below shows a potato plant.

(a) Which part of the plantis Y? | (1]
(b) How is Y useful to the plaht? _ (13
2

27



35.

The diagram below shows parts of the human body.’

Using the appropriate lefters (A to 1) from the diagram above, list, in order, the
organs each mouthfuf of food or drink passes through on its way through the
digestive system. 12]

28



"~ 36. The chart below shows the grouping of the dispersal methods of some fruits

and seeds. - R RS - .
Dispersal of fruits a
and seeds . , ]
A - B - C
Love grass Shorea ' Pong pong_' i

Based on the chart above; write down the method of seed dispersal and state
how each of-the plants adapts|itselfjto the way its seeds are dispersed. (3]

Method-o?dispersal Adaptation

29



37. Daniel wanted 16 show thaf plants produce carbon dioxide Whéri they respire.

The diagram below shows the materials which may be useful for his
experiment.

PIa‘sfi_(_; _
/Cover\ .
. vd

1 I b Gy M

Jar A JarB

JarC

(a) Which items should he choose to conduct his experiment?
Put a tick {v¥] against the items chosen. (2]

Ja r_ A

JarB

JarC_

Limewater

lodine

. (b) Explain the purpose of the plastic _govﬁr- (1]

30



38.

Amy, Belinda and Carol were trying to make yoghurt in a home economics

class using some milk and-bacteria.-Fhey recorded thelr procedures and the
resuits in the table below.

Amy Bellnda Carol
a) Warm 50mi | a) Wam 50ml a) Warm 50ml
of milk at of milk at of milk at
75°C for 30 75°Cfor 30 -| 75°Cfor 30
Step 1 seconds. seconds. . _ seconds.
b) Cool the milk | b) Coal the milk
at35°C at 35°C ’
i a) Add 1 portion | a) Add 1 portion |.a) Add-T-portion
of bacteria. - - of bacteria. of bacteria.
b) Keep the ~ [ b) Keep the b) Keep the
Step 2 mixture at mixture at mixture at
75°C for 3h. 35°C for 3h. rocm
. temperature
_ | - for3days.
The final The final The final
product taste’ product is product is
like milk. creamy and creamy and has
End Product . tastes slightly many grey
sour. | spots on the
' surface.

- (a) Name the process that took place in Belinda's mixture:-

0l

(b) Give a posvsibie fea's_b;r_l fo e;_(i)_\la;in why the bacteria in Amy’s milk was
not effective.

(1]

(c) Give a possible reason to explain why there are grey spots on the
surface of Carol’'s end product.

{1

31




39. Kok Beng used the set up.-below-to investigate the flexibility of 2 different

types of plastic strips, A and B. He secured one end of each type of plastic
strips on top of a table at point X and put a weight on the other end.

(a) Atthe end of the investigation, he concluded that Plastic Strip B was

more flexible than A. What observation enabled him to reach the
conclusion?

1

-(b) How would the results be dlfferent if Plastic Strip B was secured at
posmon Y as compared to when it was in the origirial position?” {1]

32



40. The picture below shows a method sometlmes used for keeping food warm.

The food is heated in the metal pot which.is.then.placed in a styrofoam box.

When the metal pot is removed from the styrofoam box, the food is still
warm.

(a) Explain how the styrofoam box reduces heat loss from the food. {1}

(b) What other material could the pot be made of if you want to heat it over
" a flame as well as keep the food warm for a longer period-of time?  [1] ~

33



41. Alan carrled out the following activity. He used 2-sdlid metal blocks of the

same shape and size as shown in the diagram below.-
he mass of BlockA'was 509 but the mass of Block B was 80g. -

When he lowered Block A gently into a measuring cylinder contamlng 30ml
" of water, the water Ievei rose as shown in the diagram below.

N Ve

&

j

I
!
|
|

T

|
)
i

|
|
I‘I
)

W
Q

'

I

.ll
|

|
)
!

4\:

!

|
(1111

1)

i

1
|
|

1]
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{a) What is-the volume of Block A? 1]

(b) Alan then taok ‘out Block A and put Block B into the water.

Will the water level be the same, hlgheH)r lower than when B!éck A
-was put into the water? S 1]

{c) What is the reason for your answer in (b)?

(11

35



42.

The diagfam below shows asimplé door Bali,
R

- switch

In fhe boxes below, write the energy changes that téke_ place when the
switch is closed. ’ ) : , (21

1 in batteries

in circuit

of striker

l - - . from bell

36



-43. The diagram below shows how the watercycle recycles the water from the
earih. The arrows show the different stages of water in motion. Study the

v diagram carefully and answer the questions below.
L clouds -
// \
Water vapour " rakis: -

(a) What causes the water to evaporate?

water

7

i

(b) Put a cross [X] on the éof%ei:_t_arrow to show where condensation takes

__place.

(c) How is acid rain formed?

i

{1

37




44 A pupil was told to conduct an mvestjgatnon fo find out ¥ p‘ants grow
towards sunlight using the iterns shown. v = :

A styrofoam box with a cover A pair of scissors A potted plant

" Draw a diagram to show the set-uggij_hgﬁlﬁd of the investigation. [21

38



45,

.{a) - What Was__ the force-acting on it? | 1

A boy threw a.toy parachute-from the top of the Toof: Within sétdnids, it fal
fo the ground.‘ ‘ : - A S

piaé.tic sheet .

weight

-~ (b) Give one method o keep the parachute in the air for]a fonger fime. [1]

A

"

39



46.

;100

Effart used (kg)

60

40 -

20

Matthew conducted an experiment with three differe: f simple machines X,

Y and Z. Using the information he collected from the experiment, he plotted
the two graphs as shown below. .

Z Y - X
/ 5.0 T
o
240 i _
/ / _ > / _
/ / - X g 3.0 : Y
. > -
. /V ' g 20 //
/ / ] g 1.0 |
0 20 40 60 80 100 ¢ 05 10 15 20 25 -
. Load (kg) Distance moved by the load (m)
(a) What could simple machine Y pdssib!y be? [1]

L

(b) - What advantage and disadvantage did Matthew face when he used
_.. simple machine Z as compared to the other two machines? (2]

Advantage:

Disadvantage: .

(c) Which of the above simple machines should Matthew use if he has to
carry heavy loads?

(1]

40
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3l)a)Jan§t:The number of stages in the

A

f each animal.
Riye in a different
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37)a)dJar B
Jar C —

“same ahd it st111,¢overs the

same area. In

42)Chemical ene
Electrical energy
Kinetic energy
Sound energy



\

46)a)A fixed pulley.
b)Advantage:The distance moved by the load is
greater than /The distance moved by the effort.
Disadvantage:The effort used is greater than the
load.
c)Simple machine X.

---end-—-





